“QUIZ” for Lecture 23
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1. Determine whether or not the vector field is conservative. If it is, find a function f such that
F=v/. ¥ Q : =
F(z,y,2) = (32%y%2° + yz) i+ (3239%2% + z2) j + (32%9°2% + zy) k

(D CON F = Lp10,e%Y %

L J «
(]
o{fdx ellg ‘ | -
: < ® al L”txiqag”i&% - axFuzrras )

o |
e axags £ 2 g - AxudTE D
2 DY RE T X

o o
EJ( X232 B 47 )X

?A = DU APLBr XT «—Q*Lm%“’ il
= K3L22 Y+ YBx +9 Ly, 2 )M

; Se auu\ﬁiﬂ =0
% g
Aldz( v2ud? FUuzEX) U SR

353 Wizl = - BB Tiuzx
= 3x347F h\”}?’@;:fm—»axawﬁiﬁ exqr? SR «'\4% -
Nz =e L) = NS _&

2. Evalute [ o
/ dydr +10zdy
ol

where C is the closed curve consisting of the boundary of the rectangle

{(z,y)J0<z<1 , 0<y<1}
2
JJDWUDW' Sl su))eR
= { I
CSD SD 601"&&\\.5

L
So‘ Bpl%x =D | o =

5015‘9“‘.‘ = ou \DL -



